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<?xml version="1.0" encoding="utf-8" 7>
<appS>
<app>
<title>traveldiary </title>
<price format="dollar">5.99</price>
<repdate>04/06/2012</repdate>
</app>
<info>
<provider>apple</provider>
<version>2</version>
</info>
</apps>
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. citem studentid="20021921" name="Zt&HHTHEE e/ items
B src <item studentid="20081611" name= "JHE‘I'E"I.-'W".};-"IJ;FE-I-E_-—F be/item
i te.exam ¢item studentid="20081511" name="HfS&HTH ST H-"'_:&:.“.}
4] DCMExJaxa </order>
.5 gen [Generated Java Files]
=i, Android 2.1- up-n:latel
s, assets
B, res

(= drawable-hdpi
(= drawable-|dpi
(= drawable-mdpi
(= layout
(= raw

X| testxml




Item = E 9| firstchild
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<?xml version="1.0" en&ding="utf—8"?>
<status>
<item studentid="R0081579"|name=|
<item studentid="20081537" name="¢2}
<item studentid="20081611" pame="x||Z DI X}">
<item| studentid+"20091511"|names=

</ status \
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] InputStream is = getResources () .openRawResource (R.raw.test);
Efg SrC Document doc = b.parse(is=);
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éj drmﬁabh-hdpi result += data.getDatal() + "\n":
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Iﬁ? drawame_mdpi HamedNodeMap attrs = item.getAttributes();
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E:?laFDUt MNode attr = attra.item(j):
Qﬁ?rﬂmf result += atcr.getNodeMName () ;
result += "=";
X tEEtKﬂﬂ result += attr.getNodeValue() + "\n";
B result += "\n";

et.zsetText (result) ;
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{

Log.d("TAG", e+"dom f£fail"™);




import java.io.InputStream;

import javax.xml.parsers.DocumentBuilder;
import javax.xml.parsers.DocumentBuilderFactory;

import org.w3c.dom.Document;
import org.w3c.dom.Element;

import org.w3c.dom.NamedNodeMap;
import org.w3c.dom.Node;

import org.w3c.dom.Nodelist;

import org.w3c.dom.Text;

import javax.xml.parsers.*;
import org.w3c.dom.*;




try {
DocumentBuilderFactory factory =

DocumentBuilderFactory.newinstance(),
DocumentBuilder b = factory.newDocumentBuilder();

InputStream is
Document doc

Element root = doc.getDocumentElement(),
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getResources().openRawResource(R.raw. fest);

b.parse(is);
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Nodelist items = root.getElementsByTagName("item");
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String result = ",

for (inti=0;i < items.getLength() ; i++ ) {

Node item = items.item(i);

Text data = (Text) item.getFirstChild();
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NamedNodeMap attrs = item.getAttributes();

for (intj = 0;j < attrs.getLength(); j++ ) { \!
Node attr = attrs.item());
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result += attrgetNodeName();

result +="="
result += attrgetNodeValue() + "Wn",

}

result += "Wn"
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Log.d("TAG", e+ "dom fail”);
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Implementation DOMImplementation O] =AM 0| AFE =l DOMImplementation
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CDATASection datadf| ElAEE I SHSI= CDATASection = EE A
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Processinglnstruction X|™H =l targetd} dataE 7K =

createProcessingInstruction(DOMString target, ProcessingInstruction = EE A A
DOMString data)

Attr createAttribute(DOMString name) K™=l nameS 7HX|= O{EZ|HEE MM
EntityReference XHE nameS 2 AE|E| &Zx MM

createEntityReference(DOMString name)
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Element A'§E HYAHO0[AL) QrameZ RE|HES

createElementNS(DOMStringanmespaceUR], A

DOMStringqualifiedName)

Attr A8 E HPALO|AQF QnameZ O EZ[RES

createAttributeNS(DOMStringnamespaceUR], A4 A

DOMStringqualifiedName)

NodelList XHE 22 0|2 & 7HX| D namespaceURIO|| 9]

getElementsByTagNameNS(DOMString SHA ™SR = l:||‘,3:lﬁﬂ1|0|ﬁ Otof| Q= DE ap|

namespaceURI, DOMString localName) M E Nodelist2 HF&}
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boolean hasFeatur
DOMString version
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N—r

DocumentType
createDocumentType(DOMString
qualifiedName, DOMString publicID,
DOMString systemID, DOMString
internalSubset)

Document createDocument(DOMString
namespaceURI, DOMString
qulifiedName, DocumentType doctype)

DOM

(DOMString feature,

DOM T+ o A HIAE

OlE{I{| 0| A& — DOMImplementation
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Type 2K E Bt=
X| ™ &l qualifiedName= 7tX|11 Document
A E s



SFA
‘él-'l_

boolean hasFeature(DOMString feature,
DOMString version)

DocumentType createDocumentType(DOMString
qualifiedName, DOMString publicID, DOMString

systemID, DOMString internalSubset)

Document createDocument(DOMString
namespaceURI, DOMString qulifiedName,
DocumentType doctype)

o
O] DOM F3 A7} @& B2 featureE
K| &St=X] 2 & gzt

version2 HAESH 0| EXNO HA

XNEE EE|HEE 7tX|11 Document
Type 24X & B&=
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DOM ©QIE{I{|O|A - Element

Attr setAttributeNode (Attr newAttr) MEL OJEZ|HE L E =7} 5235t 0|E2 7+F A0
oj0] ™ K|t

Attr removeAttributeNode(Attr oldAttr) K| ™ot AttreEE N AHSt0 Bi=t

NodeList F0|% =E 0|22 7}l BE XASE Nodelist2 gl

getElementsByTagName(DOMString name)

DOMString getAttributeNS(DOMString X ™Mel EZ|EE Zt2 Hizl O{EZ|BEJ X|™HE| K| &

namespaceURI, DOMString localName) 7L} Zf0| @lom Hl 2XIYS HiZ}

void setAttributeNS(DOMString XHE EZ|HEN MER 442 2E

namespaceURI, DOMStirng qualifiedName,
DOMString value)

void removeAttributeNS(DOMString XNEHE= EZ|EE HA
namespaceURI, DOMString localName)

Attr getAttributeNodeNS(DOMString XEE EC|FEE 7t% Attr = EE Hist
namespaceURI, DOMString locarName)
Attr setAttributeNodeNS(Attr newAttr) 2| AEQ Attr tEE =T}



i DOM—-% XML DOM DOM T-% oA

DOM QIE{I{| 0| A - NamedNodeMap

EEEE T T I T

=
length unsigned long(Read) O o Y= =9 7=

=
co

Sk A

Node getNameditem(DOMString name) X| ™M =l nameS nodeNameS £ 7}Xl NodeE Erzt

— —

Node setNameltem(Node arg) arg ot2t0|E= F=7}& Node ZX|. nodeName =
EHE|7t O|F= %ol AHE
Node removeNamedItem(DOMStirng XHEZl 0|2 7t%l NodeZl M|AE| D A4S Bzt

name) -
Node item(unsigned long index) X ™HEl QIEAE JIX| L E Hizt
Node setNamedItmeNS(Node arg) arg Ot2tH B = Z=7}& Node ZiA|



& o

DOM ©QIE{L{|O| A - Attr

o Attribute I:r_?_g | Qs TZ2HE| H&

* Node QIHH O£ &%
meme | ey a2
Name DOMStirng(Read) O EZIEE 0|E
Specified boolean(Read) EER|EEJ} XIMEY=X EE
of gy Z=
Value DOMString oEZIEE I}
owerElement Element(Read) OEZ|EEJ} £ A HEE F



i DOM—-% XML DOM z A A2

DOM ©@lIE{ | 0|4 - CharacterData
o —|—X|' E‘”Oll:_:lg |:|'$_:: |:-” -L'-|_9_o|- J‘LE-U-'l |_:_| ol—A X-”_n_
* Node QIEL|O|A At

.I
T T T

Data DOMString CharacterData .= =92
HAE
-] ——_—
length Unsigned long(Read) Ol EO /Y= &KX} =
2t
DOMString subStringData(unsigned long offset, offset© £ A|&IStE B 29| EAE 2 Hizh
unsigned long count) countZH2 E XIS His}
void appendData(DOMString arg) =AtE H O argE ¢
void insertData(unsigned long offset, unsigned long 2 X}E9| 71 2| offset@ 2 A|&tSt= 2 L0
count) arg X< Ato!

void deleteData(unsigned long offset, unsigned long  offser2 B X9 EE S XA, countftE EX}

count‘ o] i‘i
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DOM ©QIE{I{|O| A - Text

« HHAE LCE CIEL 4 ZQsh st H &

e CharacterData QIE{Lj|O|AE AF=

g4 L
Text splitText(unsigned long offset) SofLIO| Text EE QIEISH &= T4 9|

Text tE2 LIF
offsetZ7}X| A HRM| = E, 1 0|7} &
HR| &



* O Al 2-1

— Yoonseunghwan O|Z2}= Twiter AFEXIO| x| 2 AA|= 37429 LHE S =St}

— URL:http://twitter.com/statuses/user_timeline.xml?screen_name=correct05&count=3

- o g
« Twiter_parsingtest.java

e main.xml



=?xml version="1.0" encoding="UTF-8"?=
- =statuses type="array":>
+ i statuss
+ <statusz
+ < status>
< /statuses=

<?xml version="1.0" encoding="UTF-8"7>

+li=status=
+ < status=
+ < status=

= fstatuses=




<created_at=Sun Apr 01 02:29:54 +0000 2012 </created_at>
<id>186279190128585090</id=

-:itE:it';:Il.ifE is a targedy when seen in close-up, but a comedy
<source=web< /source

<text>Life is a targedy when seen in close-up, but a comedy in long-shot {Charlie Chaplin)</text>
<source=web < /source=
<truncated =false </truncated=
<favorited =false < /favorited =
<in_reply_to_status_id/>
<in_reply_to_user_id/=
<in_reply_to_screen_name/>
<retweet_count=0</retweet_count=
<retweeted=false</retweeted=
+ Uusers
<geo/=
<coordinates/ =
=place/=
<contributors/ =
= /status=
+ < status=
+ «<status=
< fstatuses>



<statuses type="array >
- =status=

=zcreated_at=Sun Apr 01 02:29:54 +0000 2012 -
Zid=186279190128585090 < /id>

=text=Life is a targedy when seen in close-up,
—source=web</source=
truncated =false < /truncated =

favorited =false < /favorited =
=<in_reply_to_status_id/=
=in_reply_to_user_id/>=
<in_reply_to_screen_name/ =
zretweet_count=0</retweet_count=
zretweeted >false</retweeted >

s_i_:;lzZ?_TE{:B 229 = /id=
{I1EIH'IE!}?G{}HEEUIIQ|1WEH </ name:>=

<s5Ccreen names-correctS < /screen _names




Element statuses = doc.getDocumentElement();

statuses

Nodelist statusList = statuses.getElementsByTagName("status");

status

Nodelist textList = ((Element)statusList.item(i)).getElementsByTagName("text");
Node text = textList.item(0);
text.getFirstChild().getNodeValue()



http://twitter.com/statuses/user_timeline.xml?screen_name=correct05&count=3

statuses

status

NodelList userList = ((Element)statusList.item(i)).getElementsByTagName("user");

text

text

Node userName = userList.item(0).getFirstChild().getNextSibling().getNextSibling().getNextSibling();
userName.getFirstChild().getNodeValue();




package exam.twiter;
import java.net.*;

import javax.xml.parsers.*;
import org.w3c.dom.*;
import android.app.*;
import android.os.*;

import android.view.*;
import android.widget.*;

public class twitter_parsingtest extends Activity {
public void onCreate(Bundle savedInstanceState) {
super.onCreate(savedInstanceState);
setContentView(R.layout.downxml);

Button btn = (Button) findViewByld(R.id.down);
btn.setOnClickListener(new Button.OnClickListener() {
public void onClick(View v) {
String xml;
String url;
String name = “correct05";
String output = "";
int count = 3; v
url = "http://twitter.com/statuses/user_timeline.xml?screen_name="+ name + "&count=" + count;
xml = DownloadHtml(url);

EditText result = (EditText) findViewBylId(R.id.result);

HTML addr2 AF23I0] URL ZHA| A4 A
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twitter_parsingtest.java

Dom ItA ‘8-

try {
DocumentBuilderFactory factory = DocumentBuilderFactory.newlnstance();
DocumentBuilder builder = factory.newDocumentBuilder();

InputStream istream = new ByteArraylnputStream(xml.getBytes("utf-8"));
Document doc = builder.parse(istream); «

Stream HEfZ Q= Z 2O} parsing

Element statuses = doc.getDocumentElement(); _

root YZ|HE

NodelList statusList = statuses.getElementsByTagName("status"); «— statuses child Qlg|HE =

statusQ| List
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twitter_parsingtest.java

]

for (inti = 0; i < statusList.getLength(); i++) { /
Nodelist textlList = ((Element)statuslList.item(i)).getElementsByTagName("text");
Nodelist userlList = ((Element)statusList.item(i)).getElementsByTagName("user");
Node userName = userList.item(0).getFirstChild().getNextSibling().getNextSibling().getNextSibling();
Node text = textList.item(0);
String uName = userName.getFirstChild().getNodeValue();
output += uName + " : ";
output += text.getFirstChild().getNodeValue() + "WnWn";
}
} catch (Exception e) { Toast.makeText(v.getContext(), e.getMessage(), 0).show(); }

result.setText(output);

W



for (int i = 0; i < statusList.getLength(); i++) {
NodelList textList = ((Element)statusList.item(i)).getElementsByTagName("text");

Node text = textList.item(0);

String uName = userName.getFirstChild().getNodeValue();

output += uName + " : ";

output += text.getFirstChild().getNodeValue() + "#nWn";
}

} catch (Exception e) { Toast.makeText(v.getContext(), e.getMessage(), 0).show(); }

result.setText(output);

)
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twitter_parsingtest.java
statuses

status

for (int i = 0; i < statusList.getLength(); i++) {
NodelList textList = ((Element)statusList.its
Nodelist userList = ((Element)status
Node userName = userList.item(0).g
Node text = textList.item(0);
String uName = userName.getFirstChild().getNodeValue();
output += uName + " : ";
output += text.getFirstChild().getNodeValue() + "#nWn";

}

} catch (Exception e) { Toast.makeText(v.getContext(), e.getMessage(), 0).show(); }

-item(i)).getElementsByTagName("user");
tFirstChild().getNextSibling().getNextSibling().getNextSibling();

result.setText(output);

W
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twitter_parsingtest.java

text text

for (int i = 0; i < statusList.getLength(); i++) {
Nodelist textList = ((Element)statusList.item(i)).getElementsByTagName("text");
Nodelist userlList = ((Element)statusLyst.item(i)).getElementsByTagName("user");
Node userName = userList.item(0).getFirstChild().getNextSibling().getNextSibling().getNextSibling();
Node text = textList.item(0);
String uName = userName.getFirstChild().getNodeValue();
output += uName + " : "
output += text.getFirstChild().getNodeValue() + "WnWn";
}
} catch (Exception e) { Toast.makeText(v.getContext(), e.getMessage(), 0).show(); }

result.setText(output);

Wi
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twitter_parsingtest.java

#text

#text

for (int i = 0; i < statusList.getLength(); i++) {
Nodelist textList = ((Element)statusList.item(i)).getElementsByTagName("text
Nodelist userlList = ((Element)statusList.item(i)).getElementsByTagName(’ |
Node userName = userList.item(0).getFirstChild().getNextSibling()«getNextSibling().getNextSibling();
Node text = textList.item(0);
String uName = userName.getFirstChild().getNodeValue();
output += uName + " : "
output += text.getFirstChild().getNodeValue() + "WnWn";

}

} catch (Exception e) { Toast.makeText(v.getContext(), e.getMessage(), 0).show(); }

result.setText(output);

Wi




String DownloadHtml(String addr) {
StringBuilder html = new StringBuilder();
try {

URL url = new URL(addr);
HttpURLConnection conn = (HttpURLConnection) url.openConnection();

if (conn != null) {
conn.setConnectTimeout(10000);
conn.setUseCaches(false);

A
a2 £d 478

if (conn.getResponseCode() == HttpURLConnection.H77P_OK) {

BufferedReader br = new BufferedReader(

for ;) {
String line = brreadLine();
if (line == null)
break;

html.append(line + 'Wn');
Lr.close(),‘
}conn.disconnect();
i catch (Exception ex) {;}
return html.toString();

new InputStreamReader(conn.getlnputStream()));

getReponse HIAEZ @™ S EHLfD
RF0| ddX¥ez 2[HEH AH
AEZoz HE HTML EME

9l0j S QlCt.
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3554:testa

il e 230m
° 7:' —ll_ Twitter_parsingtest
=L
— Yoonseunghwan O|2}= Twiter A} X}9| %|

= A= 3712 LiES ==t

L-':u:unaeun hwan : Life is a targedy when seen in
Close-up, but a ::ume:j_-f in long-shat (Charlie
Chaplin)

— yoonseunghwan : We're not going to be the first
.L|.|' OEI —_I'I'Ac-; to this party, but we're going to be the best

yoonseunghwan : [ think death in the most
wonderful invention of life, beacuse we're

TWlter_pa r‘Sl ngtest.Java completely aware of it and we make it a priority

e main.xml




